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‘Let (A) be a straight line passing through O and
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Consider the function f defined over IR by :

Zx . ; ; .
f(x)=x+ T"'i' , and designate by (C) its representative curve in an orthonormal system.
X

1) Study the parity of £
2) Determine lim f(x) then deduce lim f(x)
X—r+e0 X—r—n

3) Show that the line (d) of equation y = x is an oblique asymptote to (C) .
4) Study the relative position of (C) and (d) .
5) Calculate f'(x), then show that fis strictly increasing.
6) Find the points on (C) for which the tangent is parallel to (d).
7) Draw (C) and (d).
8) Let g be the function defined by g(x) = f(x)].

How can you obtain the curve of the function g from (C)?

IL

Consider a tetrahedron OABC so that

A
AOB=90°.
OA=0B=1.
Let M be the midpoint of [AB].
Let E be a variable point belongs to plane (COM).

}r_.-.-.—.—....-...n..-__.-,....ﬁ_._.,.._

s

perpendicular to plane (OAB).
Let C be a variable point on (A) .

1) Prove that (OA) is orthogonal to (CB).

2) Show that triangle CAB is an isosceles triangle. A
3) Prove that E is equidistant from A and B .

4) Calculate the tangent of the angle formed between the two planes (ABC) and (OAB) in the case where

T4
ACB =60° .



I11.
Consider two urns :

U, 2 blue balls numbered 0 & 1.
contains:

3 red balls numbered 0 ;0 & 1.

U, 3 blue balls numbered 0 ;0 & 0.
contains:

3 red balls numbered 1 ; 1 & 2.

Part A:

Two balls are drawn randomly in succession without replacement from U,

Calculate the probability of obtaining two balls having the same color

Part B:

One ball is drawn from U; then another ball is drawn from U, at random.
1) Verify that the number of all possible outcomes is 30.

2) Consider the following events:
A: “The product of the two obtained numbers is zero’’

B: “The two balls have the same color ”

Calculate P(A UB) .

V.
In the plane referred to a direct orthonormal system (o;ﬁ;%) , consider the points M(z) ,

M'(z') sothat:z'=(Z -3)z+2i).
Let z=x+iy and z=x+iy' where x ,y , x'and y'are real numbers .
a. Express x" and y’ interms of x and y.

b. Determine the set of points M if Z' is pure imaginary.

[§]



1) calculate the following integrals

4_] )

e
2

3

j 3x +3 .
b) * (* +2x+3)*

2)

ol Given i sin(3x)  cos(3x)

sin(x)  cos(x)

Verify that E is an integer to be determined.

b) Solve in IR:

sin(x) = cos(3x)

3) Find the sum of multiples of 5 found in [20 ,2017]
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On désigne par (Cf) sa

Soit fla fonction définie sur R par f(x) = x + xfil )

courbe dans un repére orthonormé.

1) Etudier la parité de f.

2) Calculer x]irpwf(x) , en déduire Xl_i}mmf(x).

3) Montrer que la droite (d): y=x est une asymptote oblique.

4) Etudier les positions relatives de la courbe (C f) par rapport a (d).

5) Calculer f'(x) , en déduire que fest strictement croissante sur son domaine.

6) Déterminer les points de la courbe (Cf) ou les tangentes sont paralléles a la
droite (d).

7) Tracer (d) et (Cf) .

8) Soit g(x) = |f(x)|, comment peut on obtenir la courbe de la fonction g a
partir de (Cf) .

On considére un tetragdre OABC tel que:

ABB =90°.

OA =0B =1 et M le milieu de [AB].
(OC) est une droite perpendiculaire au
plan (OAB) au point O.

1) Montrer que (OA) est orthogonale a (CB).
2) Montrer que le triangle CAB est isocele.

3) Soit E un point du plan (OMC). Montrer
que E est equidistant de A et B.

A
4) Soit ACB =60° et « I'angle aigu des
deux plans (CAB) et (OAR). caleuler taner .



III-  On Considére les deux urnes U, et U, :

U, 2 boules bleues numérotés O et 1 .
contient:

3 boules rouges numérotés 0 ; O et 1.

U, 3 boules bleues numérotés 0 ;0 et 0.
contient:

3 boules rouges numérotés 1 ; 1 et 2.

1) On tire au hazard deux boulles successivement et sans remise de U,
Calculer la probabilité pour obtenir deux boules de méme couleur.
2) a) On tire au hazard une boule de U; puis une boule de U,.
Vérifier que le nombre des cas possibles est 30.
b) On considére les évenements suivants:
A: * le produit de deux boules tirées est zero™.
B: ““ les deux boules tirées sont de méme couleur”.
Calculer P(A UB).

IV-  Le plan complexe est rapporté a un repére orthonormé (_Q;ﬁ;\—f) L

On Considére le point M d’affixe z=x+iy et soit M' le point d’affixe
zZ=x"tiy' tel que z’ = (Z — 3)(z + 2i)
1) Exprimer x' et y' en fonction de x et y.

2) Déterminer I’ensemble des points M tel que z' est imaginaire pur.
V- 1) Calculer :

)J-x—l
b) J- 3x+3

x2+2x+3J"*

sin3x c0S3x

2) a) On donne E =

sinx cosx

Vérifier que £ est un nombre entier a determiner.
b) Résoudre dans R : sinx = cos3x .

3) Trouver la somme des termes qui sont multiples de 5 dans I’interval [20:2017].
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